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Attempt any five questions, selecting one question from each unit.
All questions carry equal marks. Schematic diagrams must be
shown wherever necessary. Any data you feel missing suttably

be assumed and stated clearly. Units of quantities used /
calculated must be stated clearly.

Use of following supporting material is permitted during’ examination.
(Mentioned in form No. 205)

1. INIL 2. NIL

UNIT -1

-~

/{E} Evaluate the expression for equivalent noise temperature in
flwu port cascade network.

8

(b) Explain the following :
(i) Noise bandwidth

(). "Resistor noise.

OR

1 (a) The noise figure of the individual stage of a two-stage

amplifier is 2.03 and 1.54 respectively. The available power

_ * : re.
gain of the first stage is 62. Evaluate the overall noise g B

() Derive noise figure in terms of available gain and hence

derive the formula for noise figure of a cascaded 53,'5LEH1-5
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UNIT - 1I

r=

(a) ltﬂvrmim* the power content of each of the sidebands and
of the carrier, of an AM signal that has a percentage
modulation of 85% and contains 1200 W of total power.

B
(b Explain SSB modulation by phase shift method.
\ 8
'I\ OR
_ 27 @ Explain AM superhetrodyne receiver with neat block diagram.
B
() What are the generating methods for SSB-SC signal ?
&
UNIT - III

3 @  fferentiate between FM and PM. How one ¢an be generated
from the other ?

b

(b} Explain the role of pre-emphasis’ and de-emphasis in FM
system.

8

OR
3 (a) A smgle tone FM 1s represented by the voltage equation as :
Vit) = 12 cos (6 < 10"t * 5 sin 1250 ©)
Determine the following -
y  Carner frequency
(1) Mu:lululjn;: frwluum:!.'
(my Modulation index
0v)  Maxamum frequency deviation.

®  Explain the PLL demodulator used in FM.

UNIT - IV

o

(@) Calculate the output signal to noi
demodulator, B

’ sp ratig of squaré law

s

) _ | , detector.
() Calculate the output signal to noise ratio of env elope :

OR
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4 (a) Explain why FMis better than AM. Calolzm: =~

ratio for FM and AM. T -

A

®) Prove that for a DSB-SC svstem thzrs s 22 imcorivemen
in SNR by a [actor of 2.

:

UNIT - V

5 (a) Why sampling is required in digital commumezziz . INT.zin
natural and flat-tip sampling.

o
() Compare PPM and PWM. How PPM cac bs jirain=d Tom
PWNM ?
8
| OR
r“E (a) Explain the generation and demedularica methed of PAM

]

®) Compare the PAM. PPM and PWA with near diagram.
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